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OURE: =T LT4—AF 27.7.29

BEERAB: FR 27FE7A2980K)

Mans FAu7 R 1 S A
HDCP LFR: B4:18 &i:18 =7:18 2.4 iR 5 & 53 A
B, OUT DBEDEE T sE A
IN__(RBED0E i 65 A
JIE f52 EmEA OUT| IN GROSS| HDCP | NET BE
B 55 =8F 48 48 132 348
2 E#H= 47 47 120 350
3 T Ak 41 41 60 350
4 rthit BBE 43 43 72 358
5 A XK 41 41 48 36.2
6 BJI BIE 47 47 108 36.2
7 #HEFX 47 53 100 108 36.2
8 (M 5% 47 47 108 36.2
9 XTE Fx 40 40 80 36 364
10 JIIIR &2 52 52 156 36.4
11 FR g 39 39 24 36.6
12 #FE F= 45 45 84 36.6
13 #&a BA 45 45 84 36.6
14 Wik 5+ 51 52 103 144 36.6
15 & AXF 50 50 132 36.8
16 LT EH 38 38 1.2 36.8
17 HiD i 50 48 98 132 36.8
18 BEH ¥ 44 44 72 36.8
19 ¥ BIE 38 38 1.2  36.8
20 MR EH 44 44 72 36.8
21 Bk ¥ 44 44 72 36.8
22 KiF #8X 43 47 90 6.0 37.0
23 [Ehif E& 55 52 107 18.0 37.0
24 K& #B 43 43 60 370
25 FihEF 48 48 108 37.2
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OURE: =T LT4—AF 27.7.29

BEERAB: FR 27FE7A2980K)

Sans. A7 ka1t S0
OO P ¢ K8 2 =TS S e A
|[=Liva EmEA OUT| IN GROSS| HDCP | NET e
26 kHF* & 42 42 84 48 317.2

27 A B 48 48 108 37.2

28 <Fih 3E 42 42 48 372

29 K& BAZE 47 47 96 374

30 HF YNF 47 47 96 374

31 T B— 47 47 96 374

32 #E FHA 46 46 84 376

33 &F E=x 40 40 24 376

34 KF EX 45 45 72 318

35 HHEA BT o1 51 132 378

36 HFE & 43 43 48 382

37 HRE E= 43 43 48 382

38 LFH A 49 49 108 38.2

39 RE Af 48 48 96 384

40 LXK ER 48 48 96 384

41 IpH F= 42 42 36 384

42 EE #E 47 47 84 386

43 EH R1T 46 46 92 72 388

44 13 BH 46 46 7.2 38.8

45 h FF 51 51 120 39.0

46 AR BUE 45 45 6.0 39.0

47 A X3 o6 56 16.8 39.2

48 R BAl 50 50 100 108 39.2

49 ¥H BT 50 50 10.8 39.2

50 #E XF 49 49 96 394

2/3R=




AFHN)—HFT

2015/11/21 18:38

aVRE: V=T LT14—R¥ 27.7.29
BfEERAB: Rk 275782980K)
fffa—X: OUT IN IEGLRE FiE: ybIE
mRAE FRUT BEIER: 1. &M% S A%
HDCPLFR: Bit:18 &it:18 =7:18 25 R 53 A
Hvk: PA 3INUTA x4 12 A
ELR—)L: OUT D@BD®O) oty g 0 A
IN {dd3dednds 5t - 65 A
L v SinEA OUT | IN GROSS| HDCP | NET kS
51 Ax FiI 55 55 156 394
52 W & 42 42 24 39.6
53 —H —Z= 47 47 1.2 39.8
54 EE Bi 47 47 1.2 39.8
b5 IE 1E&% 58 58 18.0 40.0
56 = E= 46 46 6.0 40.0
57 RNE Fl&k 50 50 9.6 40.4
b8 ¥F A= 50 50 9.6 40.4
59 o H HEF 48 48 1.2 40.8
60 ®i#k A= 53 53 120 410
61 5 8 47 47 6.0 41.0
62 GEB it 57 50 107 156 414
63 AIH BR1T 50 50 84 416
64 L B 54 54 120 420
65 RE #H= 46 46 3.6 424
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